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Choose the correct answer from a, b, cor d:
o | like singing, ..., | don't like painting.
a) and b) but ) with d) for
@) Please, ..o up your mind.
a) take b) do c) make d) know
) Omar likes horses. He Will 9O .................ccccoooii. tomorrow.
a) fishing b) sailing ¢) horseback riding d) skating
@) Heis oo to music.
a) listening b) playing ¢) going d) doing
@) Sarah likesto ... avideo.
a) make b) take ¢) build d) read
L .
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0( ................... X 45) - (17 X 45) = 3 x 45

a) 45 b) 17 3 d) 20
9 9 subtracted from four times of the number zis -

a)4zx9 b)4z-9 c)9-4z d)9—%
e (18+23)+10=18+ (23 + 10) is called a/an - property.

a) commutative b) closure C) associative d) distributive
Q Shorouk saved x pounds, her father gave her 10 pounds, then she has - pounds.

a)10x b)10-x Ax+10 dx-10
6 The area of the square whose diagonal length is 6 cm = o cm?,

a) 36 b) 24 )18 d)12
6 The circumference of the circle whose radius length is 8 cm =7t X - cm.

a4 b) 8 )16 d) 10
0 The multiplicative neutral elementin N is -

a)0 b) 1 c2 d)3
Choose the correct answer:
OThe heart is a muscular pump in the size of your .

a) fingers b) foot c) fist d) leg

9 Blood components that are responsible for carrying oxygen from the lungs to all body cells are

a) red blood cells b) white blood cells ¢) plasma d) blood platelets

9 Carbon dioxide and water vapor are released by the -............... .

a) heart b) kidneys ) lungs d) stomach
o ---------------------------- is a sac like a balloon that stores urine temporarily.
a) Ureter b) Urinary bladder c) Urethra d) Kidney
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Choose the correct answer from a, b, cor d:
€D Welike to o oo :
a) ping-pong b) sailing ¢) volleyball d) football
@) Wedon'tlike ... stickers.
a) collect b) collect ¢) collecting d) collects
€ A:What you like to do? B:1like to snorkel.
a) do b) does C) are d) have
O lliketolistento ... .
a) football b) ping-pong C) music d) volleyball
@) She doesn'tlike building........................... .
a) naps b) videos c) stickers d) models
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Choose the correct answer:
0 The sum of two numbers a and b is 10, thenb = -

a)10-a b)a-10 ca+10 d)10-b

9 The symbolic expression of adding 3 to the double of the number y is ...
a)3y-2 b) 2y + 3 c2y-3 d)3y-2

9 If ABCD is a square of side length 7 cm, then the perimeter A D
of the opposite figure = - cm. = %)
a) 40 b) 37 M
c) 32 d) 21

@) 213 +87=87+213 (- property) B C
a) commutative b) associative
c) closure d) neutral additive element

e A rhombus of area 30 cm?, the length of one of its diagonals is 6 cm,
then the length of the other diagonal = - cm.
a)5 b) 10 )75 d) 150

6 The opposite geometric transformation is -
a) reflection b) translation ‘ I ‘
) rotation d) otherwise

ﬂ 4,7,10,13, (in the same pattern)
a)15 b) 14 )16 d) 19

Choose the correct answer:
o Blood vessels which carry blood to the heart are - .
a) arteries b) veins C) aorta d) blood capillaries

9 The small bodies that play a role in blood coagulation when the body is wounded are - .

a) red blood cells b) white blood cells
¢) blood platelets d) plasma
9 ---------------------------- carry clean blood after filtration by kidneys to the heart and then to all body parts.
a) Arteries b) Veins
¢) Blood capillaries d) Arteries and veins

o The urinary system filters the blood from - .
a) urea and uric acid b) excess salts

C) excess water d) All the previous answers
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Choose the correct answer from a, b, cor d:

€D !like reading, but ..., like singing.

a) don't b) doesn’t ) aren't d) am not
@) A:You're kidding! B:NO,it's ........ccooooooooiinn :

a) right b) true c) false d) wrong
€ idon't o .They're all cute.

a) no b) now C) new d) know
@) Sheis oo sailing.

a) go b) goes c) went d) going
) We need stringand ... to make a kite.

a) paper b) violin C) moon d) house
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Choose the correct answer:

0 The area of the rhombus whose diagonals are 12cmand 16 cm = - .

a) 69 b) 96 c) 56 d) 192
9 The circumference of a circle = -

a) or b) 27tr ) 3mr d) 4ar

e The number of lines of symmetry of an equilateral triangle = -

a)l b) 2 03 d) 4
Q The additive neutral elementin N is -
a) zero b) 1 02 d)3
6 Mai is x years old, then Mai’s age 3 years ago was -
a)3-x b)x+3 ax-3 d)x
0 Ifx+1=14,thenx-1=
a)13 b) 14 €12 d) 15
0 The number of axes of symmetry in a rectangle - the number of axes of symmetry in

an isosceles triangle.

a) > b) = Q)< d) otherwise

Choose the correct answer:

o The upper chambers of the heart are called . .

a) atria b) ventricles c) walls d) valves

9 ---------------------- allows the blood to flow from the atrium to the ventricle and prevent it from returning back.
a) Wall b) Valve c) Plasma d) Ventricle

9 ............................ is a tube that allows the urine to pass outside the body.
a) Urinary bladder b) Urethra c) Ureter d) Kidney

o To keep the urinary system healthy, you must - .
a) eat balanced food that is low in salt b) avoid keeping urine for long times

¢) drink suitable amounts of water d) All the previous answers
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